) -

LEVEL -5 (Pase l)

Multiplication (Without Abacus) Time Limit: 1 min 30sec  Time Taken:
Marks:4 marks each(30 Q x 4 =120)

42 x6 = 5 92 x8= o gl
58 x7 = HOG6 75 x 2 — i 25 x2 = 5D
47 X6 = Q3 42 x5 = <20 Crxd= 05
45'x8 = 260 28x9= 3952 64x9= 576G
78 x3= L4 28 x4 = I 38 x 8= O
56 x2= W& 51 x0 = s 77 x9= €93
el e W L 58 x7 = HC6 Bdx3— 2
7Sy = OHE 73 3 0 = g3 '5 h
5 sel = 79x8= G32 b3 L2 U
SUPes— 42 x (N 55 x 8= 1O

Division -Remainder(With Abacus) Time Limit: 2min 30sec Time Taken:
Mark : 4 marks each(30 Q x 4 =120)

739+ 8 = Os&C?J) 844 = 4 = 21l (0) 435+2:92‘;(i>

432 + 3 = b @) lg71 6 = 16! (5) l169+4= Ka(1)
502 - 7R ey~ o G6(F) 746 -5 = HE(1)
code e 5 1220) osg-7= 36(6)
G e alDalsar s = #8101 ) |66+ 5= 330)

s 1803 g - 4= 0t (1) |2s5+6=#42(3)
g -7 = 133 °) g14 + 3= 30h(2) {468+ 3 =156 (o)
E00= 3= 166(2) |s64+ 7= 52(0) |615-8=76(7)
-0 -92(3) |es2= 4= 170 (@) [8s3+a=R13(1)
B 5(%) |34-3= 8&[0) |593+:7=84(5)

' 5 °.800 abacus SPEEBMATHS RCADEMY oo b o mimmcr 20

(

(



With Abacus Time Limit:3 min Time Taken:
m%@(i‘@ﬁgw@@gm) (@mﬁm@% )( ww@(m? i) (S AR
990 |[ 962 |[ 829 [ 981 |[807 | 968 |[ 821 |[ 2001 (970 |

=| 874 || 520 {|-166 ||-240 |[-263 || 331 || 183 || 992 ||-413

—~1-996 (|-384 || 555 {| 990 || 886 || 906 || 212 || 611 || 807

=1 802 [l618 (438 |l-319 |-145 |/=3i28 S0 ey N E00)

= -262 || 981 || 434 || 398 || 943 || 836 || 937 || 249

ﬂj 176/ J q¥g J|1e83 DY c;z:at%lt%n@ 1ha3

Mark : 160

EENVEI=S (Pavc?)

84 || -62 13 32 20 49 27 2 23
66 79 35 -47 86 83 60 /8 82 49
=20 -19 39 S 42 40 || -15 -17 54 53 |

-65 S |l =92 99 12 951 59 60 50 -34

o (A17 N 797 1423 1|-275 |-17 7 SISESE I Rle7m Wty ani e (/o a = v
~| 605 | 867 | 431 || 947 |[ 862 || 991 || 181 || 707 || 865 || 912
=1 790 |l 242 |[ 795 |-302 {-210: (=790 |1"621 i 477 (=330 | 808
=[ 286 || 321 |[-251 ||-252 | 4638 NSuH EcA e N Siles

5 SV abacus

res o wr

42 || -25 -15 o1 -43 92

89 9 HIEESHRIIE ) 52 || -13 SO 8T
22 | il 89 2] -17 95 515 50

i 17 By I =29 12 0 B ey | R
Efl 66 83 96 41 30 89 80 80 85
A 59 Sl 40 S 3 -22 63
gl 19 18 61 Ny . 22 42 66 SO -6
269 | CricHE 352113 249 303 EGI Lt{%? i

SPEEDMATHS ACADEMY iy bea winner




Mark : 109

2100

‘ Mark : 100

Mark

Without Abacus

LEVEL - 5 {Pace 3)

Time Limit:4 min

- Time Taken:

85 <
G )

3

&l 53

G5
B




